item1 item?2
userl 2 3
user?2 2 5
user3 0 3
user4 4 2
usero 4 4
userb6 3 0
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item1 | item2 | item3 | item4 | itemd

1X5+ 2%X4 + 3%X3 +4%x2 + 5xX1
userl 1 2 3 4 9 cosf =
V12 + 22 + 32 + 42 + 52y/52 + 42 + 32 4 22 4 12
user2 S} 4 3 2 1 0636 \
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item1 | item2 | item3 | item4 | itemd . (=2)X2 + (—1)X1 + 0X0 + 1x(=1) + 2x(~2)
_ _ cosf =

userl | ~2 1 0 1 2 J(=2)24(=1)2402 + 12 + 22,/22 + 12 4 02 + (—1)24+(—2)?
user2 2 1 0 -1 -2 — —1
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item1 | item2 | item3 | item4 | F{E userl | user2 | userd | user4
user 3 — 3333 | | userl | 1.000 L 0.756 | 0.614 | -0.514
user2 5 - 4000 | | user? | 0.756 | 1.000 “\~0.316 | —0.949
user3 3 | 4 3.667 user3 | 0.614 | ~0:316 | 1800 | 0.894
userd 2 3.000 userd | -0.514 | -0.949 | 0:894\]_ 1.000
(2 -3.333)x(2— 4) + (3 — 3.333)(5 — 4) + (5 — 3.333)(5 — 4) 4 AN
cos(uq,uy) = = 0.756
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cos(uz, ug) >cos(usz, uq) >cos(us, uy)DIEIZEELEEHY — userl&userdz= AL Titem1 DEHII R ZHERIT 5

item1 | EHE | FER—FH9E | userBEDEELLE
user 2 3.333 -1.333 0.614
"1 Uy r,1 — Uy | cos(usz, uq)
— 3.667
user3 _ — _
31 Uj
userd 4 3.000 1.000 0.894
T2 Uy Ta1 — Ug cos(uz, Uy)

J(Z—3333)7+ (3-3333)2 + (5-3333)%/(2— 42+ (5—4)2 + (5 4)2  2160x2.449
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P31 = Uz + (111 — Up) X cos(us, uy)
(a1 — Ty )xcos(usz, uy)

= 3.743
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= 3.667 + (—1.333) x0.614+(1.000) x0.894
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item1 | item2 | item3 | item4
userl 2.00 3.00 4.05 2.00
user2 2.00 5.00 5.00 5.00
userd | 1.60 3.00 4.00 4.00
userd | 4.00 2.00 3.00 3.00

item1 | item2 | item3 | item4
userl] 2 3 @ o
user2 2 S ) 5
user3 2 3 4 4
user4 4 2 3 3
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item1 | item2 | item3 | item4
user] 2 3 4 o
user2 2 S ) 5
user3d | 3.743 3 4 4
user4 4 2 3 3.180




